Stainless Steel Pull

U DFS AFVUABSFE

AFVLVR
<
) 4 )
N y
T
=
il i i1 i
¥
M L1£0.5
W L
<
/ ) e N
N
T
<
= [——] [——]
D \ M L1£0.5
Y L
RE A L1 D H h L
UDFS-20-200 20 200 - 68 48 220
UDFS-20-300 20 300 - 68 48 320
UDFS-28-250 28 250 32 90 62 282
UDFS-28-350 28 350 32 90 62 382
UDFS-28-500 28 500 32 20 62 532
*1: ANDFCEATIHBHECT.
o {ERFI

(1) &[UDFS] (H1al) =EFEDE T, BD
BHEICR>FERIDIFBTENTEET,
BEOEE(EF5mm~10mmaOsEEELTLEE L,

.

5mm~10mm

™ IU—Vkig - JU—ViRa
BEVELELREEV

N NBK #rr7voau 0575-23-1162

Lf

15
15
17
17
17

-

MAN&MACHINE
ELEMENTS

o MZMEDRT YL AB>F,

o MHERME(CT <N SUS304 B ZERLTVE T,

® JayvhTSAMDELWLME LT,

® [UDFS-28] [3thze/ S F={ER, B8 TY,

® FFvavTHRIDIFADNRBEITUTERILS (SUSXM7 &)
Z2ARMBLET, RUHBY—ER (BIRE) ZZFALRE

&0
o ME -t EIF O rons
UDFS
SUS30448%

& Yavh IS5k
FRAEFdERILL

(BUREY—ER) SUSK7

7t mm
SrEmE - RUHBY—EZR

MW N BEG@®)  poyqz

M8  |115  |1000 1094 M8X16

M8  |[115 1000 1357 M8X16

M10 |144 1000 820 M10X16

M10 [144 1000 950 M10X 16

M10 |144 1000 1200 M10X16

o BFEIETE IS - MHEAINBK T T T A hETEL LT,

\

I —

L E
H—E'2

RUMEBY—EZ (BIEE) 2CHA0EEE. BRRSE0RRC[P]ZEN
LTLREE W,
4 L—5ZIEn
S - Bl

info@nbk1560.com https://www.nbk1560.com



